A AODSX ouT IN GROSS HDCP NET

Z B I Y%l 3] 43 81 12.0 69.0
EEl b =4 40 39 79 8.0, 71.0
_31_L X FOER 42, 42 84 12.0 72.0
AL NN B 41 44 8o 12.0 73.0
bfii EBE EC 4336 | 79) 5.0 74.0
o TH E | 45 41 86/ 12.0 74.0
M TR =& 45| 41 86 12.0 74.0
8fii Ml JEREE 36 36 72 -2.0 74.0
Oy FEIL —& 39 37 76 1.0 75.0
1062 FXE 1HEHz 42 4 83 8.0/ 75.0
116 s f8A 38/ 38 76 1.0 75.0
124 LU HSE 43 44 87 12.0 75.0
136 = EE M 42 83 8.0/ 75.0
14452 #  ZER 3945 84 8.0/ 76.0




Al BOYSR ouT IN GROSS HDCP NET

i B Bl EF 46 48 | 94] 27.0 67.0
B EE EE 47 42 | 89 21.0 68.0
3 FREF =T 47 48 95 27.0 68.0
i B 44 41 | 85 16.0 69.0
o Hrg Far 56 52 108 36.00 72.0
6 skl K 48 46 94 20.0 74.0
i B8R Ak 48 42 90, 15.0 75.0
8fii Motx Rz 51| 48 99 22.0 77.0
M =Bk Kz 47 48 95 18.0 77.0
10 A4 B 46 48 | 94 17.0 77.0
116 8L — 48/ 43 | 91/ 13.0 78.0
1247 SN K* 511500 101 23.0 78.0
13 |HL M= 46 47 93 15.0 78.0
1442 17 Mz 49 51 100 22.0 78.0




A LT714—X ouT IN GROSS  HDCP NET

B B U % 44| 43 87 15.0] 72.0
B SH XX 3638 74 2.0 72.0
i K HF 43 49 92 19.0 73.0
450 JEJIl HAEF 40 44 84 7.0 71.0
Sy ivi P fB8F 38' 44 82 50 77.0
6fi 1ERAK BEE 42 4 84 6.0 78.0
L FHE —4K 50,54 104 26.0 /8.0
8hi EHE bEH 4738 8 6.0 79.0
i = F 7 42 43 | 85 6.0 79.0
10z R X3 #2143 84 4.0 80.0
116 B = 45| 49 94 14.0 80.0
126 8 EHY 4446 90 9.0 81.0
134 ™A 20 43 | 83 2.0 81.0
144 FFR L= 45 42 87 5.0 82.0




